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AC)=B()+C( ) O [ AW B(1) C(1)
A(1) B(1) C(1)
DO 1=1,100 A(2) B(2) c(2)
A()=B(D+C() > : : :
ENDDO A(100) | | B(100) C(100)
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B(1)+C(1)
E(1)+F(1)
B(2)+C(2)
E(2)+F(2)
E(100)+F(100)
( )
B(1)+C(1) E(1)+F(1)
B(2)+C(2) E(2)+F(2)
B(3)+C(3) E(3)+F(3)

B(100)+C(100) E(100)+F(100) .-~
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DO 1=1,100
AC) =B(D+C()

D() = E(D)+F()
ENDDO
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A(1) = B(1) + C(1)

D) =E@) +F()

A(2) = B(2) + C(2)

DO 1=1,100

A(D =B()+C()
ENDDO
DO 1=1,100

D() = E(D+F(D)
ENDDO

B(1) + C(1)
B) + (@

AC100) = B(100) + C(100)

A(1)
A(2)

A(100) = B(100) + C(100)

D(100) = E(100) + F(100)

D(1) E(1) + F(1)
D(2) E(2) + F(2)

D(100) = E(100) + F(100)




A(L:M,1:N)=B(1:M, 1L:N)+C(1:M,1:N) ::> DOJ=1 N

B(1:M,1:N)=SIN(D(1:M,1:N)) DO =1, M
A(LI)=B(1,J)+C(1.J)
ENDDO
ENDDO
DOJ=1,N
2 DO | =1, M
DOJ=1,N B(1,3)=SIN(D(1.J))
DO | =1, M <z  ENDDO
A(LI)=B(,3)+C(1.J) ENDDO
B(1,J)=SIN(D(1,J))
ENDDO
ENDDO

DO
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IF

(F )

DO 1=1,100
IF (A() .LT.B(1)) THEN
A(D) = B() + C(D

ENDIF
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ENDDO
mask(1)
mask(2)

A(L1) .LT. B(1)
A(2) .LT. B(2)

mas.k(loo) = .A(loo). .LT. B(100)

if (mask(1)) A(1) = B(1) + C(1)
if (mask(2)) A(2) = B(2) + C(2)

mask

if (mask(100)) A(100) = B(100) + C(100)
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DO DO WHILE
IF GOTO

CONTINUE GOTO
CYCLE EXIT IF CASE
(CALL
4 8
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DO =2 N
A(I+1)=AD)*B()+C()
ENDDO

A

DO =2, N
A(-1)=A(D)*B()+C()
ENDDO

a(5).= A(4) * B(4) + C(4)

a(3)}=A B(2) + C(2) a A(2) * B(2) + C(2)
a(4) a3)*B(3) +C(3)  a() XAR)*B(3)+C()
a(b) =a(4) *B(4) + C(4) <

a(6) =a(5) * B(5) + C(5)

A

a(l) =A(2)*B(2) + C(2)
a(2* B(3) + C(3)
a(3 )}A 7) * B(4) + C(4)

a(4y= A(5) * B(5) + C(5)

A

a(6) =A(5) * B(5) + C(5)

A

a(1)=AR) * B(2) + C(2)
a(2y=@(3)* B(3) + C(3)
a(3y= A(4) * B(4) + C(4)

a(4y= A(5) * B(5) + C(5)

A



3 DOI=1N
A(D) =S
S=B() +Cc()
ENDDO

4

A(L) =S

DO 1=2, N
S=B(I-1)+C(I-1)
A(D = S

ENDDO

S=B(N)+C(N)

4 DO =1, N

A(D) = A(+K) + B(D
ENDDO
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a(l) =S
S=B(1) + C(1)
a(2) =S5
S=B(2) + C(2)

a(l) =S5
a(2) =S5

a(N) = S
S=B(1) + C(1)
S=B(2) + C(2)



S $=10
DO | = 1N
IF(A(1) .LT.0.0) THEN
5="A()
ENDIE
B(D = 5+ C(I)
ENDDO

6 DO I = 1N

IF(A(D) .LT.0.0) THEN
S=A
ELSE
S=D()
ENDIF
B(1) = S5+ C()
ENDDO
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v
DO I = 1,2
A(DH=BM+C)
D(D=E(+ F()
ENDDO

8

S=10

DO I=1,N
IF(A(D).LT.0.0) THEN

S=A
ENDIF
{ WK = S+ C(l)

B(l) = WK*2.0
ENDDO
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S=10 /(
N

DO I=1,N

IF(A(l) .LT.0.0) THEN
S=A(D)
ENDIF
WK(l) =S+C()
ENDDO

DO I=1,N %
B(1) = WK(1) *2.0

ENDDO
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DO 1=1,99 DO 1=1,99
A()=2.0 >  B()=A(+1)
B()=A(I+1) A(D=2.0

ENDDO ENDDO

B(1) B(99)
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DIMENSION A(M,N), B(M,N), C(M,N)

DO J=1,N DIMENSION A(M,N), B(M,N), C(M,N)
DO [=1,M DO 1J=1,M*N
A(,D=B(,)+C(,I) A(1J,1) = B@J,1) + C(J,1)
ENDDO ENDDO

ENDDO
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DO J=1 M DO I=1,N
DO I=1N DO J=1M
A(/+1,3)=A(/3)+B(1.3) > A(+1.J)=A(.)+B(.I)
ENDDO ENDDO
ENDDO ENDDO
DO I=1.N A

DO J=1M
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DO I=1,N
X=A() + B()
y=C(l) + D()
WRITE(6,%) X, ¥

ENDDO
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=>

DO I=1,N
wx() = A(l) + B()
wy(l) = c() + D)

ENDDO

DO I=1,N
WRITE(6,*) WX(D),WY ()

ENDDO

WX, WY)



DO I=N, N+100
A(D) = A(I+K) + B())
ENDDO
<

IF(K.GE.O .OR. K.LT.-100) THEN
ELSE

END IF
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DO I=1, N
A(D) = B()+C()

ENDDO
IF (N .GE. 5) THEN
ELSE

END IF



DO I=1,N
S=S+A(D)
ENDDO

DO I=1, N
A(D=A(-1)*B()+C()
ENDDO

Page 24

DO I=1,N
IF(XMAX .LT. X(1)) THEN
XMAX = X(1)
END IF
ENDDO



DO I=1,N
DO J=1,N
A(1,J) = 0.0
ENDDO
B(1)=1.0
ENDDO
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=

1
DO 1=1,N
DO J=1,N
A(1,3)=0.0
ENDDO
ENDDO
DO 1=1,N
B(1)=1.0
ENDDO

2

DO I=1,N*N
A(1,1)=0.0
ENDDO

DO 1=1,N
B(1)=1.0
ENDDO



DO 1=1,N
A1) = B(1) + C(I)
ENDDO
DO 1=1,N
D(1) = SIN(E(1))
ENDDO

DO 1=1,N
A(1) = B(1) + c(I)

D(1) = SIN(E(I))
ENDDO
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A(1:M,1:N) = B(1:M,1:N) + C(1:M,1:N)
D(1:M,1:N) = E(1:M,1:N) * F(1:M,1:N)+ S
X%
DO J=1,N
DO I=1,M
A(l1,J) = B(1,J) + C(1,d)
D(1,J) = E(1,J) * F(1,J) + S
ENDDO

ENDDO




DO 1=1,N DO 1=1,N
CALL SUB(B(1),C(D)) B(1) = SINCC(D))
A1) = B(I) /> A = B()
ENDDO ENDDO
SUBROUTINE SUB(X,Y) SUBROUTINE SUB(X,Y)
X=SIN(Y) X=SIN(Y)
END END

_p|
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-R5 -R2

-R1 -R2
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FILE NAME:t5.f
PROGRAM NAME: sub
FORMAT LIST

LINE LOOP FORTRAN STATEMENT
subroutine sub(a,b,c,d,z,ix)
real ,dimension(100)::a,b,c,d,X,y,z
integer i1x(100)
D V- > do I = 1,100
| call sub2(x,a,b,l)
y(l) = c(l) + d(l)
S z(Ix(D)) = z(x(D)) + x(1) + y(l)
e enddo
end

[

O©Ooo~No o hk~wbd
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(D
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“W”

“X”

“+11
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LINE FORTRAN STATEMENT

1 subroutine sub(a,b)

2 real ,dimension(100,100)::a,b

3 do j = 1,100

4 doi=1,99

5 a(i+1,))=a(1,))+b(1,])

6 enddo

7 enddo

] do1=1,99

. ICDIR NODEP Z
do j = 1,100

a(i+1,3)=a(1,J)+b(1,])

enddo

] enddo

9 end
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50

40

30

20

10

50% 2
80% 4.6

{ 100%

100



A
v

Ts « X 0O >
< |

) Tsxa f

) Tv
a B @>*@ B) B)
B
Ts ( *a B )
Tv a @*@B) B)

(proginf)
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SX-9 CPU

P00 PO1

CPUOO

P3

POO PO1

P3

P00 PO1

CPU15
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REAL*8 A(1024,64,100),B(100)

DO 1=1,100

A(L,1,D) = B(I)
ENDDO

A(1,1,2)

A
A(L11) A

A
A(L13) A

A
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65536
131072

CPU

A(1,1,1)
A(1,1,2)
A(1,1,3)

POO PO1

CPUOO

65536

,131072
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PROGINF

| setenv F_PROGINF YES
o

DETAIL

*kkkikkk *kkkikkk

( ) : 30.039067
( ) : 28.297595
() : 0.017765

( ) : 28.263599

MOPS : 54208.977057
MFLOPS : 31126.881228
: 250.545412

%) : 99.622385

(VB) : 512.031250

MIPS © 420.248061
( ) : 0.002944

() : 0.011593

CPU ( ) : 0.455945
() 2.416176

11892009287 .

: 6099457558.
- 1528191109757.
880815869041.

/

d
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DETAIL




DO I = 1, 300

A(D= A(1)+B(1)
ENDDO

proginf
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256

256

256

44

N

(256+44)/2=150




> a.out
> prof a.out

> sxf90 -p test.f -p

%Time Seconds Cumsecs #Calls msec/call Name
35.0 56.80 56.80 1320 43.0303 sub7_
28.2 45.73 102.53 20 2286.5 funcl5_
12.8 20.80 123.34 ev_cdexp
6.6 10.64 133.98 40 266.0 func23_
5.5 8.86 142.84 15000 0.0005 subl2_
CPU %
CPU
CPU
P
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CPU




(1) prof
(2)




ftrace

OO OO OO0 O0OO0OO0oOOo

MISS CPU

.0036
.0010
.0005
.0040
.0000
.0000
.0000
.0002
.0002
.0000
.0000

oNeoNolNelNolNollolNollollolNo]

N

VECTOR 1-CACHE O-CACHE BANK CONFLICT

PORT NETWORK

.034
.061
.001
.000
.002
.000
.000
.000
.000
.000
.000

ocNolNolNolNelNolNolNolNoll o]

911
.840
.006
.001
.013
.002
.000
.000
.000
.000
.000

! SRS * 1 EXCLUSIVE TIME
FLOW TRACE ANALYSIS LIST
kY S *
proginf

Execution Date : Fri Sep 19 17:58:12 R
Total CPU Time : 0:00"28"266 (28.268 sec.) yan
PROG.NAME FREQUENCY EXCLUSIVE AVER.TIME MOPS  MFLOPS V.OP AVER.

TIME[sec]( % )  [msec] RATIO V.LEN TINE  MISS
sub5 1275 23.255( 82.3) 18.239 61136.0 35800.2 99.62 250.2 23.248 0.0007
sub3 500 4.784( 16.9) 9.567 20427.7 8298.5 99.69 256.0 4.781 0.0002
sub7 24 0.147(C 0.5) 6.124 72093.7 50785.4 99.93 250.3 0.146 0.0000
main 1 0.039(C 0.1) 39.140 47202.8 4145.6 99.52 256.0 0.029 0.0008
sub3 9 0.031(C 0.1) 3.432 49334.3 21004.3 99.79 256.0 0.031 0.0000
sub6 24 0.007( 0.0) 0.301 67647.3 37418.1 99.57 256.0 0.007 0.0000
sub4 1 0.003( 0.0) 2.501 43833.8 21628.6 99.80 250.3 0.002 0.0000
sub10 1 0.001( 0.0) 0.892 150.6 1.8 0.96 7.6 0.000 0.0001
subs8 1 0.001( 0.0) 0.563 150.5 0.8 39.48 244.1 0.000 0.0002
subl 1 0.000( 0.0) 0.245 18648.4 0.0 98.46 256.0 0.000 0.0000
sub9 1 0.000( 0.0) 0.004 175.4 70.7 58.62 36.0 0.000 0.0000
total 1838 28.267(100.0) 15.379 54268.1 31160.9 99.62 250.5 28.245 0.0020
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ftrace

PROGRAM MAIN
PRINT*, "TEST"

CALL INIT
CALL FTRACE_REGION_BEGIN("'U_REGION'™) CHARACTER *(*) NAME

CALL SUB FTRACE_REGION_BEGIN(NAME)
CALL SUB FTRACE_REGION_END(NAME)
CALL FTRACE_REGION_END("'U_REGION™) 5\7

END

PROG.UNIT FREQUENCY EXCLUSIVE
TIME[sec]( % )

sub 2 1.539( 99.9)
init 1 0.001( 0.1)
main 1 0.000(C 0.0)
total 4 1.540(100.0)
U_REGION 1 1.539( 99.9)

AVER.TIME ~ NOPS MFLOPS V.OP AVER.
[msec] RATIO V.LEN
769.251 31597.3 20799.5 99.83 250.0
0.868 13982.2 0.0 98.84 256.0
0.160 272.9 0.2 76.53 250.9

384.882 31584.1 20785.6 99.83 250.0

1538.506 31597.2 20799.4 99.83 250.0




ftrace

% sxfO90 —ftrace test.fO0 % sxfO90 —ftrace test.fO0
% a.out , % setenv F FTRACE YES
% ftrace 0 % a.out
ftrace.out
—ftrace —ftrace

subl.f sub2.f subl.f —ftrace

SUBROUTINE SUB1 SUBROUTINE SUB2(X,Y.Z) (.5 ftrace

CALL SUB2(X,Y,Z) X=SQRT(Y**2+Z**2) subl sub2

END
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END
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® -Chopt
® -Cvopt
® -Cvsafe

® -Csopt

® —Cssafe

® -Cdebug
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DO I=1, N

ACD=FUN(B(I1),C(1))+D(D)
ENDDO

FUNCTION FUN(X, Y)
FUN = SQRT(X) * Y
END FUNCTION FUN

f90: vec(3): test .f, line 3:
fO0: opt(1025): test.f, line 4:

f90: vec(10): test.f, line 4: fun
: FUN
DO 1=1, N
A(D)= SORT(B(I1))*C(l) +D(I)
ENDDO
f90: vec(1): test.f, line 3:
f90: vec(24): test.f, line 3: 5000

f90: opt(1222): test 1, line 4.
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ICDIR

ICDIRR

ICDIR BEGIN CONT END

e!ICDIR 1 5 ICDIRR 1 6
(

e ICDIR ICDIRR
BEGIN END

oeNODEP

oL OOPCHG/NOLOOPCHG

eouterunroll

oON ADB :ADB

oVECTOR/NOVECTOR
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| NODEP

DO 1=1, N AUX())
ACIX(1)) = A(IX(D) + B(I) ~Wf,—pvctl listvec
ENDDO

-Wf,—pvctl fullmsg

f90: vec(1): test.f, line 5:
f90: vec(24): test.f, line 5: 5000
f90: opt(1036): test.f, line 6:
(nosync/nodep )
f90: vec(26): test.f, line 6: List Vector

g
ICDIR NODEP
DO 1=1, N IX(D
ACIX(1))=AIX(1))+B(1)

ENDDO IX() 9,324,15,7,10,8,...

NODEP
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DO 1=1,N
DO J=1,M
A(1,3)=B(1,3)+C(1,J)
ENDDO
ENDDO

DO I=1,N

¢ )

—Wf,—pvctl fullmsg

NOLOOPCHG

DO 1=1,N
ICDIR NOLOOPCHG
DO J=1,M
A(1,)=B(1,2)+ C(1,d)
ENDDO
ENDDO

>

M= 10000, N= 10

0.087 ( ) 0008
11 )

f90: opt(1589).: test 1, line 7:
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outerunroll

! outerunroll

® a 174

o
24 do j=1,n
25 lcdir outerunoll=4
26 do k=1,n
27 do i=1,n
28 a(i,j)=a(i,j)+b(i,k)*c(k,j)
29 enddo
30 enddo

do k = 1, 2048, 4
cdir nodep
cdir on_adb(a,b)

do1 =1, 2048
a(i,j) = a(i,j) + b(i.K*c(k,j) + b(i,k+l)*c(k+l,j) + b(i,k+
1 2)*c(k+2,j) + b(i,k+3)*c(k+3,j)
enddo
. enddo
31 enddo
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ADB Assignable Data Buffer

ADB
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ADB

| ON_ADB[ [ 1..)1

®
ADB

®
ADB

® ADB

O ADB
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ADB

REAL*8 A(N),B(N),C(N)

ICDIR ON_ADB(A)
ICDIR ON_ADB(C)
DO I=1,N

. =A() + B
c() = ..

ENDDO

ICDIR ON_ADB(A)

ICDIR ON_ADB(C)
DO I=1,N

.= A +C()

ENDDO

Page 63

C ADB

ADB

J\

A ADB
C ADB




ADB

24:
25:
26:
27:
28:
29:
30:
31:

do j = 1, 2048, 4

Icdir nodep

Icdir on_adb(a,b)
do i =1, 2048

a(i,j) = 0.0000000000000000e+000
a(i,j+1) = 0.0000000000000000e+000
a(i,j+2) = 0.0000000000000000e+000
a(i,j+3) = 0.0000000000000000e+000
b(i,j) = dfloat(2049 - max(i,j))
b(i,J+1) = dfloat(2049 - max(i,1 + j))
b(i1,J+2) = dfloat(2049 - max(i,2 + J))
b(i1,J+3) = dfloat(2049 - max(i,3 + j))
c(i,)) = float(2049 - max(1,}))
c(i,j+1) = float(2049 - max(i,1 + j))
c(i,j+

c(i,j+ ADB

enddo
enddo

do j=1,n

1Ldir nounroll

do k=1,n
do i1=1,n

A

LINE LEVEL( NO.): DIAGNOSTIC MESSAGE
27 vec ( 29): ADB is used for array.: a
27 vec ( 29): ADB is used for array.: b

a(i,j)=a(i,j)+b(i,ky*c(k,j)

enddo
enddo
enddo
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| VECTOR/NOVECTOR

o DO (VECTOR)
(NOVECTOR)

M=MIN(N,2)
ICDIR NOVECTOR
DO I=1,M

ACD) = B(1) * C(1) + D(1) * E(I)
ENDDO

M 1 2
NOVECTOR
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DO I=1, N
IF(X(1).LT.S) THEN
T = X(I)
ELSE IF(X(1)-.GE.S)
THEN
T = -X(I)
ENDIF
Y(1) = T

ENDDO ~==:::ZZ{:T
L1

—Wf,—pvctl fullmsg

DO I=1, N
IF(X(1).LT.S) THEN
T = X(I)
ELSE 1 IF(X(1).GE.S) THEN
T = -X(1)
ENDIF
Y(D) =T

ENDDO
T

f90: vec(3): test.f, line 3:
f90: vec(13): test.f, line 3:

f90: vec(21): test.f line 5:
f90: vec(21): test.f line 7:

f90: opt(1019): test.f, line 5;

Page 66




DO I=1, N
IF(A(1).GT.0.0) THEN
S= S+ B
ELSE
S=8+C)
END IF

ENDDO
N

DO I1=1, N
IF(A(1).GT.0.0) THEN
T = B(I)
ELSE

T =C(D (f
END IF

S=8§+T
ENDDO ‘\\\\\\\\\“*\
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DO 1=2, N o
X(D=X1-1)+Y(1))*A(1)+B(I) X() = X({-1)...

ENDDO
N

DO 1=2, N

X(D=X(1-1)*A(D)+Y(1D)*A(1)+B(1)
ENDDO

X() = £ X(-1)
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CPU

X(IX(D)
X(2*1+1)

(2"
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DIMENSION
A(1024,1023),B(1024,1023)
CALL SUB(A, B, 1024, 1023)
END
SUBROUTINE SUB(A, B, M, N)
DIMENSION A(M,N), B(N,M)
DO J=1,1000
ICDIR NOLOOPCHG

DO 1=1,1000

A3, 1) = B@, )

ENDDO

ENDDO

AB

1024
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DIMENSION
A(1024,1023) ,B(1023,1024)
CALL SUB(A, B, 1024, 1023)
END
SUBROUTINE SUB(A, B, M, N)
DIMENSION A(M,N), B(N,M)
ICDIR NOLOOPCHG
DO J=1,1000

DO 1=1,1000

A, 1) = B@, 1)

ENDDO

ENDDO

J AB

1024
0.54msec

0.02msec



2n

REAL A(1024,1000) REAL A(1025,1000)
DO | = 1, 1000 => DO I=1,1000
A(J, 1) =B@, D A, D) =B@,
ENDDO ENDDO
A B 1024 AB 1025

59msec 4msec
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S=0.0

DO 1=1,1024
S=S+A(l)

ENDDO

(S=S*A())
(A(+1)=AD+B))
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VS(1:256) = 0.0

DO 1=1,1024,256
VS(1:256)=VS(1:256)+A(l:1+255)

ENDDO

S =S + vsum(VS(1:256))

vsum

VS(1) = A(1)+A(257)+A(513)+A(769)
VS(2) = A(2)+A(258)+A(514)+A(770)

VS(256)=A(256)+A(512)+A(768)+A(1024)




